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Aufgaben-Quickname: 4518

Aufgabe 1

Stelle den Bruch als Prozentsatz dar.

a) 80 = M2 4009 b)) ELo127% o) 33 = {08 -00,8%

d) 38 = T09-56% € B=351% ) f& = 1on—17.6%

8) Toko26,1%  h) Aol = Nko974% i) = = o08%
i) 1000 741%

Aufgabe 2

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) Tr—69% b)) Hn-21% <) o= 1on-14% ) $55-13%

e) 32 =0 06% 1) g = Lo-16%  8) T TI%  h) {Hs—4T%
) To5l% ) ok = 1-36%

Aufgabe 3

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

2) 305 = Toon-5325%  b) 00 = Togog—9-14%

¢) soi3 = 8820 _gsogy ) 238l = B a0 o) 0L _9s61%
£) 15 -97.19%  g) Th-9543%  h) fhen—59.87%

) 100 = To000-19% ) 3000 = To000—5L85%

Aufgabe 4

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) To=19% D) 1g=41% o) B = f5=46%  d) 15=43%

o) To=23% 1) 5= {o-T4% ) fog—11%  h) oy = $—35%
) o —191% 0 1oy = 1o 13%
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